Exercise 1.3
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1 Write without brackets.
(@) (x+ 5)? (b) G2y (c) Bx+4)(3x—4)
2 Simplify the following equations into the form ax + by + ¢ =0.
@ (&3P +@+4a=(x-2+@-1)
(b) (x+1Y+ (-3 =x+3)+(y+1)
3 Simplify the following where possible.
(@) X +4 b) VxP—4x+4 () x* -1
d  Vx*+9x (e) ¥ —ig? ® X +2xp+)?
4 Write the following in the form (x + a)? + b.
@ xX*+8x+19 (b) x*—10x+23 () *x*-5x-6
5 Factorise as fully as possible.
@ P-75 (b)  4x*-36 © 4*-9*
d 3 -Tx+2 (e) 3x*—5x+2 M 6*-5x—6
Further Maths Only
6* Multiply out and simpilify.
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